>
M £ 0l &b At H Al
2018 & =04k LEBHSIH D=2
FM: =2
g dEEE JlsE=
Sol: Sa MMM Y 1E CER-ED
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
Jle22 ,234,788 2,664,276 570,512
= 239,928
Xl 367,500
< 17,100
s ,610,260
SEEZ JIseEs ,202,952 2,632,440 570,512
= 239,928
Xl 367,500
< 17,100
s ,578,424
St Algda Jlgt 2= ,238,402 933,048 305,354
= 54,928
Xl 50,000
[ia , 133,474
sgJIsdH sg4de 22 N3 (3Y) 22,000 54,800 232,800
= 11,000
[ia 11,000
101 @124l 12,000 9,000 3,000
= 6,000
[ia 6,000
04 JIZHHNZ2Z2XNSE+ 12,000 9,000 3,000
OZ82IM 29 A=Y
2,000,000& x1H +601 = 12,000
= 6,000
s 6,000
201 Let24d] 5,000 5,000 0
= 2,500
s 2,500
01 At 2teltl 5,000 5,000 0
OZEZ T4 Ul sX 2l
1,000, 000& 52| 5,000
= 2,500
s 2,500
206 = Hl 5,000 4,800 200
= 2,500
[ia 2,500
01 MHZ 4l 5,000 4,800 200
OZ82A[A 48 W27
250,000 x10& *23] 5,000
= 2,500
[ia 2,500
AREZ BFZH NFOIsE2=) 2,678 2,678 0
= 2,678
206 M= Hl 2,678 2,678 0
= 2,678
01 M2 4l 2,678 2,678 0
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P
HM: FENE =22
ol S35l AlgMa JlE & oEe)
_ RE]
SA - " (3H) - %Eﬁ HD=2
SEPSEEREEY]
678,000 2,678
= 2,678
S&SYsEs LMY XA 60,000 50,000 10,000
= 30,000
= 30,000
206 M = Hl 60,000 50,000 10,000
= 30,000
= 30,000
01 X Z H| 60,000 50,000 10,000
Os&2 dols SHXd 30,000,000%23| 60,000
= 30,000
= 30,000
SHSYHolls A2 29 4,500 4,500 0
= 2,250
= 2,250
201 et2 | 750 750 0
= 375
= 375
01 AP 22| d| 750 750 0
Odidls 2&xE H =l
= 750
= 375
= 375
206 T 2 bl 3,750 3,750 0
= 1,875
= 1,875
01 X2 H| 3,750 3,750 0
OZEE KM 2L 250,000 *15JH 2~ 3,750
= 1,875
= 1,875
SHEYols IHA 29 18,000 18,000 0
= 9,000
= 9,000
101 e1214| 12,000 9,000 3,000
= 6,000
= 6,000
04 J|12ZtHIZ22NEES 12,000 9,000 3,000
Os&2 ez ¢
*6IH & 12,000
= 6,000
= 6,000
201 et 9| 3,500 5,000 A 1,500
= 1,750
= 1,750
01 AFR 2t 2| bl 3,500 5,000 A 1,500
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A Jlz=E220
HM: FENE =22
ol Sa AZMA Y RS CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Oddls ozx ZEAE 100, 000& *5& 500
= 250
= 250
Odaols XA AH KA22d]
600,000 53| 3,000
= 1,500
= 1,500
206 M = dl 2,500 4,000 A 1,500
= 1,250
= 1,250
01 X2 bl 2,500 4,000 A 1,500
Odgdls oz & A 2HU=
250,000& x10& 2,500
= 1,250
= 1,250
XS &g &2 JgXH(2SEH) 100,000 0 100,000
N 50,000
= 50,000
402 SI2F 20| & 100,000 0 100,000
N 50,000
= 50,000
02 BIZtXIEANYEX(0IETHH) 100,000 0 100,000
O=sdE E28 &2 H Moty E2 X =4 A
& 50,000, 000 x2A! 100,000
N 50,000
= 50,000
sH=s&E A 12,400 41,500 A 29,100
201 2Et24Hy| 3,400 4,700 A 1,300
01 AP 22| d| 3,400 4,700 A 1,300
OsX2 4ils 02 2528 2
100,000 x 10X 1,000
OXgsy YLEX 2|
8,000 x3H x100! 2,400
202 04| 3,000 3,000 0
01 2L I 3,000 3,000 0
MNZ2EHE FEXH 3,000
203 & R =&t 2,000 2,000 0
03 Al ZH =X 2= XIH| 2,000 2,000 0]
OsHAEZUN I3 AR 2,000
206 M = Hl 4,000 4,000 0
01 X2 H| 4,000 4,000 0
OKE=Z sl =X 7Y 200,000& 10 2,000
OXSed MAE 2 S 100,000& x20= 2,000
A2EAE FEXHE 940,024 684,900 255,124
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FM: =2
g dEEE JlsE=
SOl Sa AZFMA DB 1E (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 940,024 674,900 265,124
01 2I2E 2 A B (KR ) 940,024 674,900 265,124
O=sxz dois SSLM N2 A 903,424
— B gHolls A H K&
4,192hax189,000& *50% 396, 144
—H Yois AEZH XA 477,280,000 477,280
—0F 600ha*100,000& *50% 30,000
OHE=ZE A8 BMEOI, SO0 E=5A
o 19,200
— EMNE0tD] 9,000,000& »3CH x60% 16,200
— SN Z0tD] 500, 000& = 10CH *60% 3,000
O3 E=53 MEHX =4 29,000,000 «60% 17,400
E3II3dH 29 78,800 0 78,800
101 @124l 10,800 0 10,800
04 JI2ZtHZ22HEE = 10,800 0 10,800
OBZINTHEH 2YSE %Y
1,800,000& 6 & 10,800
201 et 17,000 0 17,000
01 At 22l 11,000 0 11,000
O&=IIsdH 2828 2¥
1,000, 000& 14 1,000
O&2IJt34dH AIEEH |4
2,000,000 » 14 2,000
O&E=IIsdH 323 HMerall HE
8,000,000 » 14 8,000
02 2324l 6,000 0 6,000
O&II34H dIIe3 5,000,000& » 14 5,000
O&F=Jt3dH tddEd ¥ SF 22l
1,000, 000& 1 1,000
206 M= Hl 1,000 0 1,000
01 M= 4l 1,000 0 1,000
O34l 228 ZZ MW M=
1,000, 000& 14 1,000
401 AIEHIZL 20 15,000 0 15,000
01 A& Hl 15,000 0 15,000
O&E2II34dEH ZZISA 15,000,000 * 14! 15,000
405 RHoHE S HI 35,000 0 35,000
01 At ESFH S 35,000 0 35,000
O&3It34dH XAHX 7 35,000,000 x14) 35,000
sHASHE =23 1,174,850 1,194,740 A 19,890
= 85,000
Xl 317,500
< 17,100

- 516 -




A Jlz=E220
HE: BINE I223
e sgASIHE J=E= (e H)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 755,250
NEESES B4 14,850 20,500 N5,650
201 B9 5,200 6,700 A 1,500
01 AP 22| H| 5,200 6,700 A 1,500
OASXE ge=x 2|
8,000 x2H 100 1,600
OSs&= Jls8a2 &KX A& 700,000 *33] 2,100
OEs&=2 Jl=82 XME HZE 500,000 «33] 1,500
202 044 3,000 3,000 0
01 2L I 3,000 3,000 0
OAasas s3I 3,000
206 M = H| 5,000 5,000 0
01 X2 Hl 5,000 5,000 0
ESE=2 AIHE 29 s 2
200,000 x25= 5,000
301 LBt A= 1,650 3,300 A 1,650
09 SHAIAHI B A2 1,050 2,100 A 1,050
OSs&= D=2 s8Xd& &I A
7,000 =150 1,050
11 JIEtE A= 600 1,200 A 600
SS&=2 Js=E8g X AR 2 AHH]
200,000%33l 600
NESHAZSAEZ(UE) 2H 38,000 20,040 17,960
101 Q124 H| 6,000 6,000 0
04 JI2ZtHIZ2 2 NEES 6,000 6,000 0
ONASYUMBAGE 2% AR
600,000& x10& 6,000
201 £Bt24d| 3,000 3,000 0
01 AP 2t 2| H| 3,000 3,000 0
Ot ASAEEZ 24 As)|F# 2¢
100,000& x30= 3,000
206 M 2 dl 4,000 4,000 0
01 X Z Hl 4,000 4,000 0
Ol ASAEE 29 ME 2
200,000& x20= 4,000
401 Al EHI L 204 HI 5,000 0 5,000
01 A& H| 5,000 0 5,000
Ot ASAIEE 2 AHUIZ= Z2AH
5,000,000 =14l 5,000
405 XH&HF S HI 20,000 7,040 12,960
01 XAt = ZEF S HI 20,000 7,040 12,960
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FM: =2
M FEEE =
el sYASHY JlE23 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=Z0f Z0E 222l DA89% 19
20,000,000 = 1CH 20,000
s Al MY (ASHS) 170,000 240,000 A70,000
= 85,000
[ia 85,000
402 2I2H X201 M 170,000 240,000 A70,000
= 85,000
s 85,000
02 QI 2 A EZ(OI XM TH ) 170,000 240,000 A70,000
ODET) HEUHUR 22 L s HSH
2H Jl=AY 7,000,000 *100H 2 70,000
= 35,000
s 35,000
OXNZAMNERA 28 S0t 45X AlY
1,200,000& »250H 30,000
= 15,000
s 15,000
OszeZd soxs LMl AY
20,0003 =1,000H 20,000
= 10,000
i 10,000
OAGIEE 4 A E)|l= SUHES MY
50,000,000 =14 2 50,000
= 25,000
s 25,000
T gais R JUEMH(ASHS) 350,000 625,000 A275,000
X 175,000
s 175,000
402 2I2H X201 M 350,000 625,000 A 275,000
Xl 175,000
s 175,000
02 QI 2 AL EZ (01X TH ) 350,000 625,000 A 275,000
O4a =0 HZ3 AFY 200,000,000 » 14 200,000
Xl 100,000
s 100,000
Ored &x M xzd
100,000, 000& * 14! 100,000
Xl 50,000
[ia 50,000
OXNSEM=Y L2 AS3 M (ESCH X
RS AS3 AHY) 50,000,000& *1ha 50,000
Xl 25,000
[ia 25,000
AN g5g &5 I d (22l s) 285,000 0 285,000
Xl 142,500
e 142,500
402 RI2EXt20l ™ 285,000 0 285,000
Xl 142,500
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FM: =2
g dEEE JlsE=
Sel SYASIHY Jls23 (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 142,500
02 U EALEZ(0IETHR) 285,000 0 285,000
OSA2HE ATHH A AlIEH 50,000,000& *1ha 50,000
Xl 25,000
[ia 25,000
Obl ASH=2 S48 A8 AHMF THHIEH X
48 AY 52,500,000& *2ha 105,000
Xl 52,500
[ia 52,500
OFXE AEY IRI| ASAAH JesE22
AE 30,000,000& =14 30,000
Xl 15,000
s 15,000
O==0IHA &R MLAE
100,000, 000& 14 100,000
Xl 50,000
s 50,000
LASHEEZ0F AEY 33,100 60,000 226,900
< 9,600
[ia 23,500
402 RI2HXt20l ™ 33,100 60,000 226,900
= 9,600
[ia 23,500
02 It 2 AL EZ (OIS ) 33,100 60,000 226,900
OLZE 2 TIIE Ma AlY
33,000,000& =10 2= +70% 23,100
< 6,600
i 16,500
OSgais ¢H dls B2 MY
10,000, 000& * 14 10,000
< 3,000
[ia 7,000
SZEls S s 25,000 0 25,000
< 7,500
[ia 17,500
206 T2 HI 25,000 0 25,000
< 7,500
[ia 17,500
01 24l 25,000 0 25,000
OJl=Hsl s S2Eds SSLNH
25,000,000& 13l 25,000
= 7,500
s 17,500
MII=ESAY &S 258,900 229,200 29,700
402 RIZ2FRt20l ™ 258,900 229,200 29,700
01 RIZt Xt 2 AL E = (REM &) 258,900 229,200 29,700
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- _ _ RE]
M- o9 (B H) - MEAY - B2 %Ei HR=2
OXMNEBEZE 5 ASE3 JIetXESE A Y
13,000, 0002 *10ha*60% 78,000
Ol JIATHGHOHS ot Z Al AlY
1,000,000& *10ha*60% 6,000
OYE HAHOY B IYLE T AY
35,000& x2, 0004 *60% 42,000
O=AN EDIo dEY AR SHHH
15,000,000 /0. 1ha*0.4ha*60% 36,000
OANEES 23 AAsH PN AlEY
50,000,000 x2ha*60% 60,000
OSEHX 0l HA ot MA THHE AIE
20,500, 000%34! *60% 36,900
ASEF HP 789,700 504,652 285,048
= 100,000
= 689,700
AEINE AlEZ2A22Y 210,600 123,900 86,700
101 e1214| 51,000 30,000 21,000
04 J|12ZtHIZ22NEES 51,000 30,000 21,000
OAESEZ A2 o2 17,000,000 »3H 51,000
201 LBt Y| 26,500 27,900 A 1,400
01 AP 22| H| 12,000 13,400 A 1,400
OANEE 29 As)|7 2¢
50,0008 *30=E x23| 3,000
OXY=sHdASAEEZ 249 23 7Y
300,000& x12& 3,600
OANESIZE TE U AI2A OHLHE HIZ
100,000 x10= 1,000
OANEZ s WIHHE 10,0002 *60H *23| 1,200
OAEZ 2229 22| 8,000 x4H 100 3,200
02 =224 H| 14,500 14,500 0
OAMENY e S2H|(AIS2 A
1,000,000 x304 & 3,000
OdlteA 29 2 sXISA RFH
1,000,000 x40 & 4,000
OsJIHRYE & = AHXE8 83|
500,000& x50 & 2,500
OAEEH KA € B 500,000 =103l 5,000
202 044 2,000 2,000 0
01 2L H| 2,000 2,000 0
OAEMNY HRFA 2,000,000& 2,000
206 M = Hl 34,600 40,600 A 6,000
1 MHZ bl 34,600 40,600 A 6,000
OANEZE 29 Ma7Y 2,500,000 *103] 25,000
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FA: JlsE21
M FEEE =
o9l NASEHS o CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O4E oi7g N 2 Hary
120,000& »20E *43| 9,600
401 Al& Bl 28I 79,000 9,000 70,000
01 A& HI 79,000 9,000 70,000
ONBE BIZIEN L S54+2 ZA
75,000,000& =14 75,000
OAMEZE thSotRA HIIBHE SA
4,000,000& =14 4,000
402 2I2H X201 M 15,000 0 15,000
01 2I2F 2 A B (RERTH ) 15,000 0 15,000
OLX= stolf 2= 2==AIAE AX AIEH
5,000,000& x5 2= «60% 15,000
405 THebH S| 2,500 14,400 211,900
01 AL =2 S FH S| 2,500 14,400 A 11,900
Os2% ZHE NAssA2AHI ¢
2,500,000 = 1CH 2,500
s)|=dy SEgELd 29 X2 (X2) 200,000 0 200,000
= 100,000
[ia 100,000
206 = Hl 10,000 0 10,000
= 5,000
[ia 5,000
01 =8l 10,000 0 10,000
Oltstd=s AMERZ 28 Mz 72
100,000& x50& »23| 10,000
= 5,000
s 5,000
401 AIEBIZ 201 8I 35,000 0 35,000
= 17,500
[ia 17,500
01 A& Bl 35,000 0 35,000
Ot ZZT H2Y &X 15,000, 000& 14! 15,000
= 7,500
e 7,500
Ontstd s AEZE AI&Z22 20,000,000 * 14 20,000
= 10,000
s 10,000
405 THabH S| 155,000 0 155,000
= 77,500
i 77,500
01 et EFH S 155,000 0 155,000
Olstd=s AMEE dolls & EE|
100,000, 000& * 14 100,000
= 50,000
s 50,000
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FA: JlsE21
M FEEE =
Sol: AASHS o137 EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OUslds NBZ sogn C2 g
40,000,000 = 1CH 40,000
= 20,000
s 20,000
OB+ =3t % IS Ty 7
,500, 0003 *2CH 5,000
= 2,500
s 2,500
Oltstgd=s A 29 Ws) ¢
10,000, 000& = 1CH 10,000
= 5,000
= 5,000
FAAS Mabae 379,100 380,752 A 1,652
101 @14 Hl 102,000 80,000 22,000
04 JIZHHZ2XRHEE S 102,000 80,000 22,000
OABAZ(X31R)M o5
1,700,000& x10E 6 & 102,000
201 £B-2dH| 17,100 6,000 11,100
01 At 22l 12,100 6,000 6,100
OYBAS(23F )M Zei= 7Y
250,000& x25+4H 2,000
OZHAS (=) )M AT 2
150,000 108 1,500
OFHAS (=3 )M S &I
8,000& 2100 1,600
OEXNYXZE & AIEEH MEZ
7,000,000& x 14 7,000
02 3323l 5,000 0 5,000
OZ&AE e Al 2 FHHl |
1,000, 000& *52] 5,000
202 O4dl 3,000 3,000 0
01 = LH YI 3,000 3,000 0
OZBRS 2 XX 3.000
206 M= Hl 229,000 170,000 59,000
01 =8l 229,000 170,000 59,000
OYBAZ(Z3F )M HEPY
17,900,000 103 179,000
OFst= M8 stz 4,000& *12, 5004 50,000
401 A& BIZ 201 8I 28,000 121,752 A93,752
01 A& HI 28,000 121,752 A93,752
OXst® MA R4 AlE M
20,000,000& =14 20,000
O=3=2 44t ZelAld 2= 8,000,000& 14 8,000
HH2IZH (Ols22D) 31,836 31,836 0
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Hl w

H3r
Wikd
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31,836
31,836

12,636
12,636
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16,200

3,000
3,000

Off &t 24

31,836
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12,636
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10,109

2,527

16,200
16,200
16,200

3,000
3,000
3,000

30
0
ol
all

01 At 22l bl
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</

B3
o

o

.
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3
o

0

n0
no

O=3Uoldl

01 SLHOHI

202 o4 Hl

KJ
KE
OF
ol

128

2%

250,000

0H
x
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o
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